Initial call: left =0, right =9

pivotPoint =4
26 40 48 61 86 94 57 16 25 1
25 11 86 94
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First recursive call: left =0, right =7

pivotPoint = 3
26 40 48 61 25 11 57 16
16 61
1 2 3 5
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Second recursive call: left =0, right = 6

pivotPoint = 3
26 40 48 16 25 1 57
11 16 40 26
1 2 3 4
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Third recursive call: left = 0, right = 0, not shown

Fourth recursive call: left = 2, right =6

pivotPoint =4
48 40 25 26 57
25 48
2 3 4 5
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Fifth recursive call: left = 2, right = 1, not shown




Sixth recursive call: left = 3, right =6

pivotPoint =4
40 48 26 57
26 48
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Seventh recursive call: left = 3, right = 4

pivotPoint = 3
40 26
26 40
3 4
S

Remaining recursive calls: left > right, not shown
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Scoring

Swaps
(Meaningful) Recursive Calls 5 1 5
Calculations (left, right, pivot)



